HSK-T

PRECISION TOOL HOLDERS SYSTEM




| o=
[—
——

& ™\ Beyond the mechanical

2= WA
REFERENCE DETAILS

6015
& 2
d2 N\ d8 /
= aY,
30%
i ‘l
I8 - @ '\_‘ I‘I—' '%[%E
I N
1:9.98 / = =
(2° 52'5") = YA
2. L5
Y
L DT
o g a1 | | |da| a6 | | a |l || b i
— Spec. h10 H10 | H11 Max. Max. Min. +0.1 | =20.04
g2 -0.2 ~0.1
= & +0.03
EE HSK-T32 | 32 [24.007| 17 [205| 19| 31 [ 4 | 42 | 16 [32| 23 | 20 | 16 [ 7.05 | 6932 | **/
=
7]
= i HSK-T40 | 40 (30007 21 [255(23| 39 |4 | 5 | 20 | 4 | 23 | 20 | 16 | 805 | 7.932 [ *O7°
HSK-T50 | 50 [38.009| 26 | 32 |29 | 49 [ 7 [ 68 | 25 | 5 | 30 | 26 | 18 [10.54 | 10.425 | *O0%
HSK-T63 | 63 [48.010| 34 | 40 (37 | 62 | 7 | 84 | 32 |63 30 | 26 | 18 |1254 12425 | *O0%°
HSK-T80 | 80 [60.012| 42 | 50 |46 | 79 [ 7 [102 | 40 | 8 | 30 | 26 | 18 [16.04 | 1593 | *O7%
HSK-T100 | 100 [75.013| 53 | 63 |58 | 99 | 7 | 12 | 50 |10 | 3a | 26 | 20 [2002 1991 |*O0%°
iE:
ORERIE <AT3
O B :>HRC56°
COEREE >0.8mm
O HEEE :<0.8um

O RMIAKEE :Ra<0.25 u m
ONFRTARRESN TS G6.3, FAIBIMIERESHNTH G2.5
O A REEH :DIN 1ISO 12164-3:20008

Features:

=) Taper tolerance <AT3.

= Hardness>HRC56°

2 Carbon depth=0.8mm.

2 Roundness < 0.8um.

2 Surface roughness: Ra<0.25um.

©) The shank has pre-balance at G6.3,and can provide
precision balance at G2.5, made by request.

2 Shank body standard:DIN 1SO 12164-3:20008



la=
—
—

& ™\ Beyond the mechanical

HSK-T-SBK MEHE§T{E S T K& HSK-T-SBK OUTSIDE DIAMETER TURNING AND MILLING TOOL HOLDER

H3
L4 B
D D1 J]l ~-=i5) ar H1 . | _
HSH. Hu — § : I : L'.'.'r"l" : A I
M :@r@ @: | ;.Q; H .
| ) J_ _._,"' L
e S (o)
1 —— 1 i —— @s= 1. —— 11
o 1
| d ! I"T"'l--_..“II -""-- "”-.-"" 1 I
I 1 1 I 1 __.___-:I_-._,-._,-_. i ﬁ
o eo-of sl
] I [ i == i
L2 L i i . ?"", e
. . RERNASY '
L |
L
/N SE B Note
* ETFERIEATC BEEERVNEANTS
Flease take care to prevent interference within the T EE x E ;p‘:l.— ['.1
ATC cantilever and the machine. Mo restriction on left or right hand direction

#i # Model HED L|L1|L2|LL3|L4| D |D1I|{H1| H2 |H3| B G I?G%
HSK-T50-SBK20*20R-95 HSK-T50 |120| 95 | 26 | 31 | 60 | 50 | 48 | 32 |37.75| 51 | 20 | M10*1.5P 2
HSK-T63-SBK20*20R-110 HSK-T63 |142|110) 26 | 36 | 60 | 63 | 61 | 32 |37.75| 51 | 20 | M10*1.5P | 25
HSK-T63-5SBK25*25R-110 HSK-T63 |142|110| 26 | 36 [67.5| 63 | 61 | 32 | 37.75| 51 | 25 | M12*1.75P | 2.8

HSK-T63-SBK1" *-1" R-110 HSK-T63 |142 (110 26 | 36 |67.5| 63 | 61 | 32 |37.75| 51 | 1" | M12*1.75P | 2.8

HSK-T100-SBK25*25R-120 HSK-T100 (170|120 29 | 35 |[110[100| 98 | 32 | 37.75| 51 | 25 | M12*1.75P | 6.5

+
; g
1
@ E

HSK-T100-SBK1" *1" R-120 HSK-T100 |170 (120 29 | 35 (110|100 | 98 | 32 | 37.75 | 51 | 1" | M12*1.75P | 6.5




2= TIWMAR

Z 5
i:'—.
= 0
£z
A

HSK-T-SBN SMEE 1S S 7] B2

O BaENim
| o=
——

& ™\ Beyond the mechanical

HSK-T-SBN OUTSIDE DIAMETER TURNING AND MILLING TOOL HOLDER

&,ﬁiﬁ Mote
* iEFERIEATC BEEEVEANTH

Please take care to prevent interference within the
ATC cantilever and the machine.

| .!":.:l.'.!‘
LH

L

!

FiT ok BT R T
iy iy iy

& |

n
¥y
i
L

FERTEFET (R

This diagram shows a right hand tuming tool (R)

g WD L |(LOj L1 |L2| L3 | L4 |L5|L6| L7 | D |D1|D2| B1 |B2| B3 |H1|H2 G I?E:"
HSK-T50-SBN20*20R-110 HSK-T50 | 135 |31| 110 |26| 72.8 |52.8| * |60(83.1| 50 (48| * | 20 |25(43.5|35|35| M10*15P | 2.4
HSK-T50-5SBN20*20L-110 HSK-T50 | 135 |31| 110 |26| 72.8 |52.8| * |60|83.1| 50 (48| * | 20 |25|43.5|35|35| M10*1.5P | 2.4
HSK-T63-SBN20*20R-110 HSK-T63 | 142 |32| 110 (26| 72.8 |52.8| * |60|83.1| 63 [61| * | 20 |32(43.5/35|35| M10*1.5P | 2.9
HSK-T63-5SBN20*20L-110 HSK-T63 | 142 |32| 110 |26| 72.8 |52.8| * |60|83.1| 63 |61| * | 20 |32|43.5|35|35| M10*1.5P | 2.9
HSK-T63-SBN25*25R-110 HSK-T63 | 142 |32| 110 |26| 70.8 (45.8|40(70(85.2| 63 [61({90] 25 |32| 53 |39|39|M12*1.75P| 3.2
HSK-T63-SBN25*25L-110 HSK-T63 | 142 |32| 110 |26| 70.8 |45.8|40|70|85.2| 63 |61(90| 25 |32| 53 |39 |39|M12*1.75P| 3.2

HSK-T63-SBN1" *-1" R-110 | HSK-T63 | 142 (32| 110 (26| 70.8 |45.8|40|70|85.2| 63 [61|90|1" |32]| 53 |39|39|M12*1.75P| 3.2
HSK-T63-SBN1" *-1" L-110 | HSK-T63 | 142 |32| 110 |26| 70.8 |45.8|40|70|85.2| 63 |61(90|1" [32]| 53 |39|39|M12*1.75P| 3.2
HSK-T100-SBN25*25R-135 |HSK-T100| 185 |35| 135 |29| 88.5 |63.5| * |70|102.9/100/98| * | 25 |32| 59 |43 |43|M12*1.75P| 6.4
HSK-T100-SBN25*25L-135 |HSK-T100| 185 |35 135 |29| 88.5 |63.5| * |70|102.9(100|98| * | 25 |32| 59 |43 |43|M12*1.75P| 6.4
HSK-T100-SBN1" *-1" R-135 |HSK-T100| 185 |[35| 135 |29| 88.5 |63.5| * |70(1029/100/98| * | 1" |32]| 59 |43 |43|M12*1.75P| 6.4
HSK-T100-SBN1" *-1" L-135 |[HSK-T100| 185 |35| 135 |29| 88.5 |63.5| * [70|102.9/100(|98| * | 1" |32| 59 |43 |43|M12*1.75P| 6.4
HSK-T100-SBN32*32R-140 |HSK-T100{ 190 (35| 140|29| 89 | 59 | * [85]109.9{100(98| * | 32 [37(68.5|48 |43| M14*2.0P | 7.2
HSK-T100-SBN32*32L-140 |HSK-T100{ 190 |35( 140 |29| 89 | 59 | * |85|109.9(100|98| * | 32 |37|68.5|48 |43| M14*2.0P | 7.2




la=
—
—

& ™. Beyond the mechanical

HSK-T-SBH sMEHE S8 S 7] B HSK-T-SBH OUTSIDE DIAMETER TURNING AND MILLING TOOL HOLDER

,
J---._
L3 AR
# L
F -

' . B2 | Bi

D D1 e
HSK.NO y LT lA)

bH

=

1
1
1
1
1
1
S,
[ ]
& =
o # 5
J.-" I".\.-\..H
1
‘.Id
1
1
1
1
]

-
il " e

S -
—— __:‘l- L - grﬁ; I:::Ei_—_::..l :
. o ¥ :
L2 & l\@/ﬂ '
: { LDj "
, L1 N
- L w
/NSEE Note
* IEFER L ATC 28 EVAANTS
Flease take care to prevent interference within the ::ﬁgﬁ = E:E {5'_!
ATC cantilever and the machine. Mo restriction on left or right hand direction

ik WD L |LO| L1 |L2| L3 | D |D17|B1|B2| B3 | H1 | H2 G :3:
HSK-T50-SBH20*20R-90 HSK-T50 (115 |40 90 |26 | 70 |50 (48 |20 | 25 |43.5|27.5| * | M10*15P | 1.8 iﬁ =
HSK-T50-5BH20*20R-120 HSK-T50 | 145 | 70| 120 |26 | 100 | 50 |48 [ 20 | 25 |43.5|27.5| * M10*15P | 2.3 % %
HSK-T63-SBH20*20R-90 HSK-T63 [ 122 (40| 90 |26 | 70 |63 |61 |20 |32 |4.35| 30 * | M10*15P | 25 % E
HSK-T63-5SBH25*25R-90 HSK-T63 | 122 |40 90 |26 | 65 |63 |61 (25|32 | 53 |40.5| 295 |[M12*1.75P| 3.1

HSK-T63-SBH1" *-1" R-90 HSK-T63 | 122

3

90 |26| 65 (63|61 (1" | 32| 53 |40.5| 29.5 |M12*1.75P| 3.1

HSK-T63-5BH25*25R-120 HSK-T63 | 152 |70 | 120 |26 | 95 |63 |61 (25| 32| 53 |40.5| 295 [M12*1.75P| 3.7

HSK-T63-SBH1" *-1" R-120 | HSK-T63 |152 (70| 120 |26 | 95 |63 |61 |1" | 32| 53 [40.5| 295 |M12*1.75P| 3.7

HSK-T100-SBH25*25R-105 HSK-T100| 155 (35| 105 | 29| 80 (100(98 |25 |32 | 59 | 48 | 37 |M12*1.75P| 6.1

HSK-T100-SBH1" *-1" R-105 |HSK-T100| 155 |35 | 105

3
3

100| 98 |1" | 32| 59 | 48 | 37 |M12*1.75P| 6.1

HSK-T100-SBH25*25R-150 HSK-T100| 200 | 35 | 150

3

125 (100|198 | 25| 32| 59 | 48 | 37 |M12*1.75P| 8.9

HSK-T100-SBH32*32R-105 HSK-T100| 155 | 35| 105

3

75 |100| 98 | 32 |40 |[685| 57 | 43 | M14*20P | 74




O BaENim
| o=
——

& ™\ Beyond the mechanical

2= TIWMAR

HSK-T-SBV SMEHESRES T1E

HSK-T-SBV OUTSIDE DIAMETER TURNING AND MILLING TOOL HOLDER

B3

B2
2'—' o 1
| '\
[ -\_-|...$I E
@ " 1
_ _@ 2 iy
gy T - 1JLL : E
g 1 B L3 | :
L2 '
L1 i |

AN SEE Note
* T BRI ATC E8EHEMASTH

FPlease take care to prevent interference within the
ATC cantilever and the machine.

FERTEFETND (R)

This diagram shows a right hand turning tool (R)

o & i Wan L jLOo| L1 |L2|L3| L4 | D |D1|B1|B2| B3 |[H1|H2|H3 G g:
E '—ﬂl HSK-T50-SBV20*20R-95 HSK-T50 |120({31| 95 |26 |15 60 |50 48|20 |25|43.5(25(25| 5 | M10*1.5P 2
E E HSK-T50-5BV20*20L-95 HSK-T50 |120({31| 95 |26 |15| 60 |50 |48 |20 (25|43.5|25|25| 5 | M10*1.5P 2
=2 E HSK-T63-SBV20*20R-95 HSK-T63 |127(32| 95 |26 |15| 60 |63 |61|20 |32(43.5/33|32|13| M10*1.5P | 2.7
HSK-T63-5BV20*20L-95 HSK-T63 |127|32| 95 |26 |15 60 |63 |61 |20 (32|43.5|33|32|13| M10*1.5P | 2.7
HSK-T63-SBV25*25R-105 HSK-T63 |137(32| 105 | 26 |20 70 |63 |61 |25 (32| 45 |30(30| 5 (IM12*1.75P| 2.9
HSK-T63-5BV25*25L-105 HSK-T63 |137|32| 105 |26 |20 70 |63 |61 |25 (32| 45 |30(30| 5 [M12*1.75P| 2.9
HSK-T63-SBV1" *-1" R-105 | HSK-T63 [137|32| 105 |26 (20( 70 |63 |61|25 |32( 45 |30|30| 5 (M12*1.75P| 2.9
HSK-T63-SBV1" *-1" L-105 HSK-T63 |137|32| 105 |26 |20 70 |63 |61|25 (32| 45 |30|30| 5 |[M12*1.75P| 2.9
HSK-T100-SBV25*25R-150 HSK-T100{200|35| 150 | 29 |20| 110 (100|98| 25 [37| 59 |48|43|23|M12*1.75P| 8.5
HSK-T100-SBV25*25L-150 HSK-T100|200|35| 150 | 29 |20 110 |100|98 | 25 |37| 59 |48|43|23 |M12*1.75P| 8.5
HSK-T100-SBV1" *-1" R-150 |HSK-T100{200(35| 150 |29 (20| 110 |100(98 1" |37| 59 [(48|43|23|M12*1.75P| 8.5
HSK-T100-SBV1" *-1" L-150 |HSK-T100|200|35| 150 | 29 |20| 110 |100|98 (1" |37| 59 |48|43|23 |M12*1.75P| 8.5
HSK-T100-SBV32*32R-150 HSK-T100{200|35| 150 | 29 |20| 110 (100|98 | 32 [40|68.5|45|43|15| M14*2.0P o
HSK-T100-5SBV32*32L-150 HSK-T100|200|35| 150 | 29 |20| 110 |100|98 | 32 |40|68.5(45|43|15| M14*2.0P 9




la=
—
—

& ™\ Beyond the mechanical

HSK-T-SBT M EE§H{E S T EE HSK-T-SBT QUTSIDE DIAMETER TURNING AND MILLING TOOL HOLDER

%E
:é;
o
o

______________________

L1

/AN\EEE Note
* T EPALE ATC E8EHMAGT

Please take care to prevent interference within the = 77 ( R
ATC cantilever and the machine, AERTEFET (R)

This diagram shows a right hand turning tool {R)

2z

g MEp L (LO] L1 |L2|L3| L4 | D (D1|D2|B1|H1| H2 | H3 G I?Gis i%

HSK-T50-SBT20*20R-95 HSK-T50 | 120 (31| 95 (26| * | 60 |50 |48| * |20|35|43.5]| 15| M10*1.5P 2.3 EE
HSK-T50-SBT20*20L-95 HSK-T50 | 120 (31| 95 |26|* | 60 |50 (48| * |20|35|435|15| M10*1.5P 2.3
HSK-T63-SBT20*20R-95 HSK-T63 | 127 (32| 95 (26| * | 60 |63 |61| * |20|35|43.5| 15| M10*1.5P 2.6
HSK-T63-SBT20*20L-95 HSK-T63 | 127 |32 95 |26|*| 60 [ 63 |61 * |[20|35|43.5(15| M10*1.5P 2.6
HSK-T63-SBT25*25R-115 HSK-T63 | 147 |32| 115 (26|40 70 61| 90 | 25 b3 (18| M12*1.75P | 4.4

HSK-T63-5BT25*25L-115 HSK-T63 | 147 |32| 115 |26|40| 70 61|90 | 25 53 (18 | M12*1.75P | 4.4

HSK-T63-SBT1" *-1" R-115 | HSK-T63 | 147 |32| 115 |26|40| 70 61|90 | 25 53 (18| M12*1.75P | 4.4

8|3

HSK-T63-SBT1" *-1" L-115 | HSK-T63 | 147 |32| 115 |26|40( 70 61|90 | 25 53 (18 | M12*1.75P | 4.4

HSK-T100-SBT25*25R-150 HSK-T100 | 200 |35| 150 |29|* |110|100(98| * |25 M12*1.75P | 8.9

HSK-T100-5BT25*25L-150 HSK-T100 | 200 |35| 150 |29 * |110|100|98| * |25 59 |23 | M12*1.75P | 8.9

HSK-T100-SBT1" *-1" R-150 | HSK-T100 | 200 |35| 150 [29|* [110|100|98| * |25 59 |23 | M12*1.75P | 8.9

I T O B < il
3
&

HSK-T100-5BT1" *-1" L-150 | HSK-T100| 200 (35| 150 (29| * | 110 (100|98| * |25 59 |23 | M12*1.75P | 8.9




| o=
[—
——

& ™\ Beyond the mechanical

2= TIWMAR

HSK-T-TSB AR EStES IR 2714 A |

HSK-T-TSB INNER DIAMETER TURNING AND MILLING TOOL HOLDER (FOR BORING BAR )

L
F16. 3 F16. 4 ,
H1 HSK. NO
HSK. N0, > it HZ, TE 2
' ey, =
ﬁ.-"l _[F 77, /ﬂ:ﬂ? .
B ‘ e e | A — I —lelaa
TJ EI‘I—L
L4
L3 L2 -
i3 - L 2
L L3 L1
L

B Mote
* BB ATC B8 EYH AT
Please take care to prevent interference within the
ATC cantilever and the machine.

A

z
£
g
=
2

==
R
—_
o
5
i
FEE

i HED L |L1|L2|L3|{L4|( D ([D1|D2| d | H1 |H2| H3 | H4 G FIG I?Gls
HSK-T50-TSB8-65 HSK-T50 | 90 | 65 |39 |26| * |50 |28 * | 8 | 40 20 | * | M8%1.25P | 1 0.7
HSK-T50-TSB10-70 HSK-T50 | 95 | 70 |44 (26| * |50 [35| * |10| 45 | 9 | 22 | * | M8%1.25P | 1 0.8
HSK-T50-TSB12-75 HSK-T50 |100| 75 |49 |26 | * |50 |42 * |12 | 50 22 | * | M8%1.25P | 1 1
HSK-T50-TSB16-95 HSK-T50 [120| 95 |69 (26| * |50 (48| * |16| 70 |14 | 18 | 18 | M10*15P | 2 | 1.3
HSK-T50-TSB20-95 HSK-T50 |120| 95 | 69 |26 | * |50 (52| * |20| 70 |14 | 18 | 18 | M10*1.5P | 3 1.4
HSK-T50-TSB25-110 HSK-T50 |[135|110| 84 (26| * |50 (62| * | 25| 85 |14 | 26 | 26 | M12*1.75P | 3 | 2.1
HSK-T50-TSB32-125 HSK-T50 |150(125|99 |26 | * |50 |62 | * |32 (100| 14 | 30 | 30 | M12*1.75P | 3 | 2.1
HSK-T63-TSB8-65 HSK-T63 | 97 |65 |39 |26 * |63 |28 * | 8 | 40 | 9 | 20 | * | M8%1.25P | 1 0.9
HSK-T63-TSB10-70 HSK-T63 |102| 70 |44 (26| * | 63 |35 * | 10| 45 22 | * | M8%1.25P | 1 1.1
HSK-T63-TSB12-75 HSK-T63 107 |75 |49 |26 | * |63 |42 * |12| 50 | 9 | 22| * | M8%1.25P | 1 1.2
HSK-T63-TSB16-100 HSK-T63 |132(100| 74 |26 | * | 63 |48 | * |16| 70 |14 | 18 | 18 | M10*15P | 2 | 1.7
HSK-T63-TSB20-100 HSK-T63 |[132|100| 74 (26| * |63 |52 | * |20| 70 |14 | 18 | 18 | M10*15P | 2 | 1.8
HSK-T63-TSB25-115 HSK-T63 |147(115| 89 |26 | * |63 |62 | * |25 | 85 |14 | 26 | 26 |M12*1.75P| 2 | 25
HSK-T63-TSB32-130 HSK-T63 |[162 130|104 | 26| * (63 |62 | * |32 |100| 14 | 30 | 30 [ M12*1.75P | 2 | 2.6
HSK-T63-TSB40-145 HSK-T63 |177|145|119| 26| * | 63 |68 | * |40 (115| 16 | 36 | 36 | M16*2.0P | 3 | 2.9
HSK-T100-TSB8-75 HSK-T100 (125| 75 |46 (2936|100 28 |32| 8 (40 | 9 |20 | * | M8*1.25P | 4 | 24
HSK-T100-TSB10-80 HSK-T100 |{130| 80 | 51 |29 | * [100|35| * (10| 45 | 9 [ 22 | * | M8%1.25P | 1 2.5
HSK-T100-TSB12-85 HSK-T100 (135 85 [ 56 (29| * |100| 42| * |12 50 | 9 | 22 | * | M8%1.25P | 1 2.7
HSK-T100-TSB16-105 HSK-T100 |155|105| 76 |29 | * [100| 48| * (16| 70 |14 | 18 | 18 | M10*15P | 2 | 3.1
HSK-T100-TSB20-105 HSK-T100 (155 |105( 76 (29| * |100| 52| * (20| 70 |14 | 18 | 18 | M10*15P | 2 | 3.2
HSK-T100-TSB25-120 HSK-T100 |{170{120| 91 |29 | * [100| 62| * (25| 85 |14 | 26 | 26 | M12*1.75P | 2 4
HSK-T100-TSB32-135 HSK-T100 (185|135(106(29 | * |100| 72| * |32 (100|114 | 30 | 30 |M12*1.75P| 2 | 4.9
HSK-T100-TSB40-150 HSK-T100 |200|{150|121|29 | * (100|882 | * (40 |115| 16 | 36 | 36 | M16*2.0P | 2 6
HSK-T100-TSB50-180 HSK-T100 (230(180(151(29| * |100|92 | * |50 (145|118 | 38 | 38 | M16*20P | 2 | 7.8




D | d=
—
—

& ™\ Beyond the mechanical

TSB40 &% E TSB40 CONVERSION SLEEVE

R g
q;ﬁﬂ'f-‘-' b w
_I- -_ s ---
/
'\-I. Ll.r

6 W3 H2
—\ i
7> .
///////////A7/ |
_,.l"'i i
al -l - ——- S —— W A ©
—J:——:—: = {1
________ 5
1 L
g L L1 D D1 d H1 H2 H3 G EFE KGS
TSB40-8 118 13 40 50 8 50 7 34 M8*1.25P 1
TSB40-10 118 13 40 50 10 50 7 34 M8*1.25P 1 -
b
TSB40-12 118 13 40 50 12 60 7 34 M8*1.25P 1 E i"
=
TSB40 -16 118 13 40 50 16 70 7 34 M8*1.25P 0.9 ﬁi
5 5
FE =




| d=
—
—

& ™\ Beyond the mechanical

2= TIWMAR

HSK-T-TSD AR EStES N EE [ $&3ER |

HSKT-TSD INNE-R DIAMETER TURNING AND MILLING TOOL HOLDER(FOR DRILL)

FIG. 1
H1

= 8 o

el

HSK. NO
A

77

D1

L1

D1

2 2
S =1
- i
HE- R —
- = —L
A\ Note
* EFERLE ATC BERNEAOTH
Please take care to prevent interference within the
ATC cantilever and the machine.
Hig Wap L LT | L2 | L3 | L4 | D |D1| d | H1| H2| H3 G FIG IE G:
HSK-T50-TSD8-65 HSK-T50 | 90 | 65 [ 39 | 26 | * | 50 | 28 | 8 | 34 | 10 | 18 | M8*1.25P | 1 0.8
HSK-T50-TSD10-65 HSK-T50 | 90 | 65 | 39 | 26 | * 50 | 35 | 10 | 39 | 12 | 20 | M8*1.25P | 1 0.9
HSK-T50-TSD12-70 HSK-T50 | 95 | 70 | 44 | 26 | * | 50 | 42 |12 | 39 | 12 | 20 | M8*1.25P | 1 1
HSK-T50-TSD16-75 HSK-T50 (100| 75 | 49 | 26 | * 50 | 48 | 16 | 49 | 14 | 18 | M10*15P | 1 1.1
HSK-T50-TSD20-80 HSK-T50 [105| 80 | 54 | 26 | 31 | 50 | 52 | 20 | 51 | 14 | 18 | M10*15P | 2 1.2
HSK-T50-TSD25-85 HSK-T50 (110 85 | 59 | 26 | 31 | 50 | 62 | 25 | 57 | 14 | 26 |M12*1.75P| 2 1.6
HSK-T50-TSD32-90 HSK-T50 [115| 90 | 64 | 26 | 31 | 50 | 62 | 32 | 61 | 14 | 30 |M12*1.75P| 2 1.6
HSK-T63-TSD8-65 HSK-T63 | 97 | 65 | 39 | 26 | * 63 | 28| 8 | 34 | 10 | 18 | M8*1.25P | 1 0.84
HSK-T63-TSD10-70 HSK-T63 [102| 70 | 44 | 26 | * | 63 | 35 | 10 | 39 | 12 | 20 | M8*1.25P | 1 0.97
HSK-T63-TSD12-70 HSK-T63 |[102| 70 | 44 | 26 | * 63 | 42 | 12 | 39 | 12 | 20 | M8*1.25P | 1 1.1
HSK-T63-TSD16-75 HSK-T63 |107 | 75 | 49 | 26 | * | 63 | 48 | 16 | 49 | 14 | 18 | M10*15P | 1 1.4
HSK-T63-TSD20-80 HSK-T63 |[112| 80 | 54 | 26 | * 63 | 52 | 20 | 51 | 14 | 18 | M10*15P | 1 1.5
HSK-T63-TSD25-85 HSK-T63 |117 | 85 | 59 | 26 | * | 63 | 62 | 25 | 57 | 14 | 26 |M12*1.75P| 1 1.9
HSK-T63-TSD32-90 HSK-T63 |122| 90 | 64 | 26 | * 63 | 62 | 32 | 61 | 14 | 30 | M12*¥1.75P| 1 1.9
HSK-T63-TSD40-100 HSK-T63 (132|100 74 | 26 | 32 | 63 | 68 | 40 | 71 | 16 | 36 | M16*2.0P | 2 2.1
HSK-T100-TSD8-70 HSK-T100 | 120 | 70 | 41 | 29 * |100| 28 | 8 | 34 | 10 | 18 | M8*1.25P | 1 2.5
HSK-T100-TSD10-75 HSK-T100 |125 | 75 | 46 | 29 | * |100| 35 | 10 | 39 | 12 | 20 | M8%1.25P | 1 2.6
HSK-T100-TSD12-75 HSK-T100 | 125 | 75 | 46 | 29 * |100| 42 | 12 | 39 | 12 | 20 | M8*1.25P | 1 2.7
HSK-T100-TSD16-85 HSK-T100 |135 | 85 | 56 | 29 | * |100| 48 | 16 | 49 | 14 | 18 | M10*15P | 1 2.9
HSK-T100-TSD20-85 HSK-T100 | 135 | 85 | 56 | 29 * |100| 52| 20 | 51| 14 | 18 | M10*15P | 1 2.9
HSK-T100-TSD25-90 HSK-T100 |140 | 90 | 61 | 29 | * |100| 62 | 25 | 57 | 14 | 26 |M12*1.75P| 1 3.3
HSK-T100-TSD32-95 HSK-T100 | 145 | 95 | 66 | 29 * |100| 72 | 32 | 61 | 14 | 30 |M12*1.75P| 1 3.9
HSK-T100-TSD40-105 | HSK-T100 (155|105 | 76 | 29 | * |100| 82 | 40 | 71 | 16 | 36 | M16*2.0P | 1 4.6
HSK-T100-TSD50-115 HSK-T100 | 165 | 115 | 86 | 29 * |100) 92 | 50 | 81 | 18 | 38 | M16*2.0P 1 .3




| d=
—
—

& ™\ Beyond the mechanical

B 7] 84N DISPLAY FOR TURNING TOOLS
BRIS NARE
##@F A CLAMP MECHANISM INSERT
e INSERT EDGE LENGTH
A | BACK CLAMP SYSTEM M | MULTI-CLAMP SYSTEM Insart 6.35/7.94|9.52512.0012.7(
| & inscribed circle
C | CLAMP-ON SYSTEM P | PIN LOCK SYSTEM Al & " /80°|ogloslos! — | 12
B 5 -
DOUBLE CLAMP SYSTEM SCREW-OM SYSTEM - .
D S C e Ay 0% o7l - | 11| - | 18
E | OFF-SET PIN SYSTEM T | TAPER LOCK SYSTEM D | 18 : )
39 1| - |18 - | -
JS | SCREW-ON SYSTEM W | WEDGE-ON SYSTEM E 20°
F| 25° b -1-1-112]-
JT | BACK CLAMP SYSTEM .
G 30 1M 113 (16| - | 22
N 0°
B | 110 ~ | - |o9| - |12

HSK-T63 | --|M||C||L||N|| R 45| |065| - |12

2z
- .
H
%
®E
-
& =
71K R itk 70 f MG " D1 R NART
INSERT GEOMETRY CUTTING EDGE GEMOETRY HAND D1 DIMENSION TOOL LENGTH METRIC
cl & 80° 90° 75° 90° 45° I—H —
' T b e R 1
D | < 55°| | A s C o \\,\ |I j : s
K -- J 55& llﬁﬂl:_'_ B{E’“ _E{_In 1 [rl?-_ Eﬂ —l 1 : I . )
| . J ] ) ; [1
R | E F G H ) hr } )
93° 75° 95° 50° [ / /
S — . e il . ., I_ _—______.- J__."
95° el I B
T J K L M [
63° . | 1175° 75> 45° |*/ |
V : 35° " '
N P g S
W . 80°
=5 60° L83 |  72.5% 60°
i | [
T U v W
HI [ 120 o
Al ' 8s° N
Y
B[] M 82
E| 4 75°
<
M| < 86
ol | 135°
P| 7 108




2= TIWMAR

O BaENim
| o=
——

& ™\ Beyond the mechanical

DCLN P8 5 7] DCLN EXTERNAL TURNING TOOL

Nk EE (KGS)
#1#g Spec. L L1 di d2 Insert Weight
HSK-T63-DCLNR-45065-12 97 65 45 31 CN..1204 1.26
HSK-T63-DCLNL-45065-12 97 65 45 31 CN..1204 1.26
? % |E244% Accessories
1
T =
3 oot | )| Nm | D | P S
E BE Shim Shim Screw Wrench Clamp Clamp Screw | Clamp Wrench
CN..1204 CMS432 MLP46L-A PL2.5 5.0 MC620 MS630 PL3 5.0

DDJN 5p 8 5 J)

DDJN EXTERNAL TURNING TOOL

L1

E — E— —
=
LA
kR EE (KGS)
#1#g Spec. L L1 di d2 IFenit Weight
HSK-T63-DDJNR-45075-15 107 75 45 31 DN..1504 1.38
HSK-T63-DDJNL-45075-15 107 75 45 31 DN..1504 1.38
|d24F Accessories
wy | BABH | g | oL | EE B4R, BT —
R W 'Em | | |
Insert D Shi _I!N.ml % M -|-{ o
Shim Scr;“uL Wrench el Clamp Clamp Screw | Clamp Wrench Sk
DN..1504 DMS442 | MLP46L-A PL2.5 5.0 MC622 MS630 PL3 5.0




DTJN 5p & & 7] DTJN EXTERNAL TURNING TOOL

di

O ioHumNmH
— ld=
—

& ™\ Beyond the mechanical

d2

Nk EE (KGS)
##g Spec. L L1 di d2 Insert Weight
HSK-T63-DTJNR-45065-16 97 65 45 31 TN..1604 1.27
HSK-T63-DTJNL-45065-16 97 65 45 31 TN..1604 1.27
|&44% Accessories
- 2K g wF A HiE E R i 03 4% R iRiRF A
oot | S | wm | R P | = | e
Shim Shim Screw Wrench q Clamp Clamp Screw | Clamp Wrench a
TN..1604 TMS322 MLP34L-A PL2 3.0 MC620 MS630 PL3 5.0

DWLN 518 E 7] MWLN EXTERNAL TURNING TOOL

L

E=E (KGS)

R
#1#& Spec. L L1 di d2 Insert Weight
HSK-T63-DWLNR-45065-08 97 65 45 31 WN..0804 1.22
HSK-T63-DWLNL-45065-08 97 65 45 31 WN..0804 1.22
|E2#45% Accessories
- 2R BREA wF AhiE E R i 63 4% iR F AHE
Insert \./ W ||| _IEN"“} % M ||| T{ N.m)
Shim Shim Screw Wrench ok Clamp Clamp Screw | Clamp Wrench ORe>
WN..0804 | WMS432 MLP46L-A PL2.5 5.0 MC620 MS630 PL3 5.0

;
£
:

z
=
)




e ES] nmm
MVLN EXTERNAL TURNING TOOL

¥
i
# e
o
F 3
5
>
f i1 i
£
P i, g
L Ty
" e
o,
¥

d2

T
_..--—'—"'f_"'—“"——l"

#1#g Spec. L L1 di d2 Ir?sfrt I;Ji:ﬁﬁl
HSK-T63-DVLNR-45075-16 107 75 45 31 VN..1604 1.30
HSK-T63-DVLMNL-45075-16 107 75 45 31 VN..1604 1.30

- ﬁ |EE{=I=§ Accessories

F o 2p B8R e - 4R R 4500 & RIRIRF -
- K

F i Insert Q W ||| _IEN"“} % M |]| _I!:N.m}
E 7] Shim Shim Screw Wrench orque Clamp Clamp Screw | Clamp Wrench orque

i VN..1604 VMIS322 MLP34L-A PL2 3.0 MC622 MS630 PL3 5.0
DCMN 5p & H 7] DCMN EXTERNAL TURNING TOOL
.. o L L
L1 , d2

e
e
_---—'—'_III B = T
Nk E& (KGS)
it Spec. . ch Insert Weight
HSK-T63-DCMNN-00100-12 132 100 CN..1204 1.68
HSK-T63-DCMNN-00140-12 172 140 CN..1204 1.68
|de{F Accessories
- 2k BRBA WF A AIE i JBR i 50 4 B iR F A
-t || & | em | R | P | T | (m
Shi . Torque Torque
im Shim Screw Wrench Clamp Clamp Screw | Clamp Wrench
CN..1204 CMS432 MLP46L-A PL2.5 5.0 MC620 MS620 PL3 5.0




DDNN 5 18 5 7] DDNN EXTERNAL TURNING TOOL

L

la=
[—
—

& ™\ Beyond the mechanical

]
ol
2 AW
3 = SCIRS =
. J
Nk EE (KGS)
#itg Spec. L L1 D Insert Weight
HSK-T63-DDNNN-00100-15 132 100 63 DN..1504 1.55
HSK-T63-DDNNN-00140-15 172 140 63 DN..1504 1.55
|E2#45% Accessories
- 2h - 35 WF AHiE i JBR i 0 4 B R R F AHE
o || [ 0m | R | P | T | m
Shim Shim Screw Wrench q Clamp Clamp Screw | Clamp Wrench q
DN..1504 DMS442 MLP46L-A PL2.5 5.0 MC622 MS625 PL3 5.0

DTEN 51§ E J]

DTEN EXTERNAL TURNING TOOL

L1

— | | ., =
ol - - - e 5
-E- E H
I-__.ﬁ_______ |~
L
Nk BEE (KGS)
#itg Spec. L ki g Insert Weight
HSK-T63-DTENN-00100-16 132 100 63 TN..1604 1.62
HSK-T63-DTENN-00140-16 172 140 63 TN..1604 1.62
|He{F Accessories
2R BRB WF AhiE E R i 63 4% R F AHE
- | = & =
ot | S L &> i
Shim Shim Screw Wrench q Clamp Clamp Screw | Clamp Wrench q
TN..1604 TMS322 MLP34L-A PL2 3.0 MC620 MS630 PL3 5.0

+
; g
1
i E




Z 5
i:'—.
E o
£z
2

HE WA
DWMN EXTERNAL

TURNING TOOL

O BaENim
| o=
——

& ™\ Beyond the mechanical

L1

5 :
g :’%’:
> .
_--'—-'i- —
Nk EE (KGS)
#it Spec. L L1 D Insert Weight
HSK-T63-DWMNN-00100-08 132 100 63 WN..0804 1.48
HSK-T63-DWMNMN-00140-08 172 140 63 WN..0804 1.48
|&i4% Accessories
- 2R BRB% wF AHiE BE R i 68 4% iR F AHIE
o R IR DL
Shim Shim Screw Wrench q Clamp Clamp Screw | Clamp Wrench a
WN..0804 | WMS432 MLP46L-A PL2.5 5.0 MC620 MS6E30 PL3 5.0

DVVN 508 E 7] DVVN EXTERNAL TURNING TOOL

L1

1 Ak
P
0 e
el 5___,:",3;*]
___'.-_-_- -
4718 Spec L L1 b Nk EE (KGS)
i Insert Weight
HSK-T63-DVVNN-00100-16 132 100 63 VN..1604 1.40
HSK-T63-DVVNN-00140-16 172 140 63 VN..1604 1.40
|E2#45% Accessories
- EH BRE% wF AhiE BE R i 63 4% iR F AHE
Insert \Hi’ W m 1!::.' “:I}E % M 'I!:uT-TE}r
Shim Shim Screw Wrench q Clamp Clamp Screw | Clamp Wrench a
VN..1604 VIVIS322 MLP34L-A PL2 3.0 MC622 MS630 PL3 5.0




	C HSK-T
	C HSK-T2
	C HSK-T3
	C HSK-T4
	C HSK-T5
	C HSK-T6
	C HSK-T7
	C HSK-T8
	C HSK-T9
	C HSK-T10
	C HSK-T11
	C HSK-T12
	C HSK-T13
	C HSK-T14
	C HSK-T15
	C HSK-T16

